
Announcement - 17st Thematical Tourney of Phénix 1

The team of Phénix announces its 17th Thematic Tourney. Compositions of problems are requested 
with the Breton condition (or one of its three variations).
Breton : When a piece is captured, one piece of same nature and the same capturing camp must also 
disappear (if there is one). The choice of the eliminated piece is made by the captured camp.
Adverse Breton : When a piece is captured, another piece (of same nature) of the captured camp must 
also disappear (if there is one).
Chromatic Breton : When a piece is captured, a piece of same nature and of the capturing camp (if 
there is one) must change color.
Adverse Chromatic Breton : When a piece is captured, another piece of same nature and of the captu-
red camp (if there is one) must change color

Section A - directs mates. Judges : Maryan Kerhuel and Laurent Riguet
Section B - fairy stipulations, conditions of any kind are accepted. Judges : Éric Huber and Vlaicu Crişan
Limitation of 5 problems per author in each section.
In case of small participation, the sections may be merged into a single award.
Please advise if the problems has been tested by computer, or not.
Final date of envoys is April 1st 2020.
The problems must be sent to the tourney Director :
Laurent Riguet, 1 rue Jules Verne, 60560 Orry la Ville FRANCE (email : travailphenix@gmail.com)

ANNOUNCEMENT OF THE 
17th THEMATIC TOURNEY

A - J.-M. Loustau
dédié à Pierre Tritten

Phénix 2018!--------!
/c67f : : :/
/:f: : :F/
/ :p: : :/
/:r:R: 89c /
/ :t67F : :/
/:P:T:p: /
/ ()P 89C : ()p/
/: : : :de/
$________$#2*                      (10+7) C+
Breton

1…T×f3(-Pb3) a 2.tç5# A (2…F×ç5(-Tf3)?)
1…C×f3(-Pb3) b 2.cb6# B (2…F×b6(-Cf3)?)

1.ded1! [2.de×b3(-pç6)#]
1…T×f3(-Pb3) a 2.cb6# B (2…F×b6(-Cd2)?)
1…C×f3(-Pb3) b 2.tç5# A (2…F×ç5(-Td3)?)
Mats échangés spécifiquement Bretons.

B - P. Petkov
Phénix 2018!--------!

/R: :H:D:/
/()PP:c01r : /
/ ()p ()p :P:/
/()Pp:P()Pp: /
/ 45t : : .+H/
/: : :P: /
/ :f: ()P :/
/: : : : /
$________$hs#3                     (8+12) C+
b) pd6→a6
Breton, Anti-Andernach
H=Rose

a) 1.fa4(F) f1=T(t) 2.té1(T) a×b6(-Pa5)
3.t×a4+ H×a4(-Té1)#

b) 1.té4(T) f1=F(f) 2.fg2(F) b×a6(-Pd5) 
3.f×é4+ H×é4(-Fg2)#


